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1) Complete the pattern :-

25 35 45

L ¥

a) 35,45 b) 30,40 ¢) 20,30 d) 30,35

2) Rohan has 20 rabbits.4 of them are white, 7 of them are grey. The rest
are black. How many rabbits are black

a) 9b)8c)7d 16
3) Answer the following :-

i) How many months are there in a year.
a)l2 b) 11 ¢) 7 d) 10

il The iifth month oI the vear 1S
a) June b) July c) May d) April

iii) Sunday is the day of the week
a) Seventh b) third c¢) first d) fourth

iv) How many days are there in a leap year

a) 28 b) 29 ¢))30 _(fi)bn_ori‘cgrt]heﬁ

v) Wednesday comes just after

a)Tuesday b) Wednesday ¢) Thursday d) ».aday



a) 7b)i2c) 6 d)10

4) Which odd number comes after 9

a) 12b) 11 ¢) 10 d) none of these
5) Which evenﬂngmber comes after 2

a) 6 b)2c)44d 8

5) 4 -\-O:\é

l530+0

7) How many eyes will 10 monkeys have
a) 20 b) 6 ¢) 24 d) 12

8) How many wheels will have 6 bikes have
a) 18 b) 6 ¢) 12 d) 24

9) Pranav had 9 toy cars and Aman had 4 toy cars. How many toy vars
thev had in all. , s
a) 12 by 13 ¢) 11 d) 10

10) Rahul put 2 spiders in each match box. How many spiders did he
catch if he used up 5 match boxes.
a) 12 b) 10 c) 8 d) none of these

11) There are 3 sweets in one packet.How many sweets are there in 8
packets
a) 20 b) 24 ¢) 12 d) none of these

12)16 + 27 + 44 = /7
a) 43 b) 60 ¢) 77 d) 87/

13) Encircle the odd number in the star 14) Encircle the even number in the l?flrf/w/




